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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

$7 -9 %I gier 9T, 3, &, &, § 3K T F FieT 7 & | 3779 qut 9 &

Yo7l & IR 1@ & |

qut g A g 1

YT &, &, § 3R T & o § AR =7 15397 77 & |

YT 37 & J97 G&IT 1 37K 2 Th-Uh 37% & o7 & | §79 I} T ¥eg 3797

T a3 & ‘

gygﬁag%wy@r3#5ﬁ-ﬁwﬁ%w?/ﬁ%mwwwm
/

YT § & o7 G 6 T 15 T7-d17 3H & F7 & | F99 I T 50 Fg]

v g 8 | e |
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General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

AT A

SECTION A
A1 % 3cATGl T ARG & I8 o % fafaw |
Name two industries based on forest produce.
forgq Srectl o fargq, seaftEl o a1 sreEe g G o 7 g gt %
T S B 3 ?
Why are the heating elements of electric toasters and electric irons made
of an alloy rather than a pure metal ?
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SECTION B
3. Ul w1 anfvae g fafay o sueht saeei-famg s Efifae | 2
Write the molecular formula of ethene and draw its electron dot
structure.
4, U1 ?ﬁﬁq :

(a) I, TMee IR FHeat 1 ITAN STV i s H fohaT ST 7 |

(b)  wifeay i ufirm St argsti w1 wueru daf § gae fRn St e |1 2
arera

FB R dh 9 § Gell Tad W fiear (A7) 6 aeqe sieft 9g It 8 Sefen

HIR (qTe) o Tl bl ol H W T 3T FHehIcl P I8l W &l T 59 STt

? | 917 § ufeya 39 ugredt & AW fafew S g7 argent @ stfufskan e § qen

g9 9T Icqrel & 1 forfe | 2

Give reasons :

(a)  Platinum, gold and silver are used to make jewellery.
(b)  Metals like sodium and potassium are stored under oil.

OR

Silver articles become black when kept in open for some time, whereas
copper vessels lose their shiny brown surfaces and gain a green coat
when kept in open. Name the substances present in air with which these
metals react and write the name of the products formed.

5. &l 1 MO uEdAh 17 7 | ®& H TR hl @A 714 hitee | fafa |
TeRTRT 1 =T 3 x 108 m/s B | 2
The absolute refractive index of Ruby is 1:7. Find the speed of light in

Ruby. The speed of light in vacuum is 3 x 108 m/s.

qHr |
SECTION C

6. FaIYF Tt H B (II) A8¢e o Al T o 0T hl TH H T HEAT HIHR
JFETSE, Oy AT HIS Y 9 X et 7 | 3
(a) 3T 3fufsran & TR 3 1 X &l Y8 |
(b)  sfufsran =1 Tgfera Tamfe Tt fafa |
(¢) T8 X T fae=e &1 pH WiE ffaw |
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On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, O9 and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

(a) Torell 37T 1 Thd hLd THI AT STV FAI hi Il 7 foh A ol
S # T =iz T o6 5 1 o | 2

(b) Ih TESOH FANGS NH I fofemd oF & W § His qiadq &l
A | w2

AT
I A Aifeam grsgidarss fhm TR ST STt 8 2 39 fshan 1 9 foiRaw |
39 Ufsha H IUIcaTg o €9 H i M9 X o 8 | I8 79 94 & a1 | 1w
hich ohis ATk Y SHTC! &, SrEent 3w WEa e 4 foieH e & ®9 °
fopam STaT B | X SR Y I ygENU dun g arefl Stfufshanstt & v
grfiertor fafau |

(a)  While diluting an acid, why is it recommended that the acid should

be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

IYFYHl TFATES T BId & ? Ueh 3QTE0 IWT | 319 I 6l gfee & few
Hdfora TEfeh FHieh faRay |

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.

HIed AfTenl hI TASAE S0t T BT B 2 Teh 3@ ST qAT 39k did
rfiyctegon At FE SR |

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.

317211 4
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10. difdshl & &9 H OIS qmor R fowmadt qmwor & g 9 et
rfiyereqon T FE TR | 3

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

11. IraicEsd Tl gd @ 2 39 @ i fARgu | 3
HAAAT
(a) ATl {8 HEd § 2 ITgdl o oI I8 =i A1awer 3 2
(b) TR o HEa®d UGdl § 9eref gl dgad & ? 3
What is transpiration ? List its two functions.
OR

(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

12. TfhER o1 BT B 2 39 [y v o i fafgu | 3

What is carpel ? Write the function of its various parts.

13. I3 B A fopet g1 1 3794 F19 § Uhel g3 &, UV h WIedh IS

T I 3T HISdT 8 | 3Hoh U I8 UUEfdd JehIST i YUl & fehe Tt i

! 3ffc T ST 7 | 3

(a) U I S o T 30 =1 ST =0 2

(b) 3ok U ToRE TR T UOT T ?

() o1 98 39 ThIThaId g1 30 UUl <l |idehe Wiy gl Fulf@ o
T ? S0 ThUT § 79 I sl Ifsc U gt 3T Th1eT fohtor i@
et IV |

CPC)]

10 cm ST IS o 12 cm IhE gt & fhefl 3Ta1 0 & &I 319 & orad.
@l ? | oE g fore gl 18 cm § | S Ao widfersr shi wepf, feafa stk

1SS T 1T | 3
A student holding a mirror in his hand, directed the reflecting surface of

the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?

(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length

of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR
A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 ecm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.

817211 5 P.T.0.
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15.

16.

R O 1 BId @ ? R U hl G hl e HIfSu | 9 At § 9g O
Y@ ol i G TR |

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

geell % SPHUSH o HUl T H AISH g "UIled 3w il fifey | a8
fr8 TR S 7 2 STgEvEA | A ol U § e o foiu Soerht dvaifya
WA &1 AW faRau | 59 WEl o 39§ fhg i HY <hl ST gehdt B 2
Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the
atmosphere. How can the use of these chemicals be reduced ?
R 1 £
SECTION D

(a) HSHAE o 3TMEd HEH I FHIGT o AT Teheal dF S&UT 3T FH SHTST |
(b)  MYHeh 3TTad ARl |,

i) et 3mad @ 9@ @ g I W,

(i) TorEl T9g (@) °# W A = IH |,

awdll o ©Tfcdeh A&o § fohd Tehr for=ror grar 8 2

T I & foru swror G |

Jroqa

IR qdi A, B, C 3R D % THISAT § Seiaeiqi o1 i ieh 4 foato 8 YR 3
o6 37 axall % STRIAH IS § Solarel Sl TEAT SHUST: 1,3, 5 3R 738 | Yl
MEd ARt § § awal hl Tg (YU) T faf@u | B 3R D TR @
Sl fa=Im8 qem B 3R D % AW & o AMfieh 1 11fvesh g fafaw |

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
(1) left to right in a period,
(ii))  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.
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20.
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(a) STREMYT T0h 1 ITAN H hl TATE F1 & 9l 8 ? FAR oA |
SN k1 SHHY & HRUT 14 1A T kT I8 3T IHRT Tk A0 forfigu |
(b) BHR IR H dfEeRT e fohH TohR THT od & 2 SRedT shifoig |

A
Saad fhd @gd 3 ? 38 uftaew wi feffa w0 & fau feedt wam 6
CIRCTRE|

T ST |
(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

(a) TG GEEATE A A § 2 T IgE G | ‘ o

(b)  “Torelt Tasma Ry 1 form @ s B 3R 34Uk fofu gl SHehi § &
foreft =1 Y Iater) 481 9 S Hehar |7 el § forr fgior = @i
Tt YATg 3TR@ h! TERIaT ¥ 38 %A 6l gfse i |

(a)  What are homologous structures ? Give an example.

(b)  “The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it.” Justify this
statement with the help of a flow chart showing sex-determination
in human beings.

wwg@a%%ﬁﬁmﬁm@%awmmﬁgﬁa% ?
élafé'lEE\[ HIUTT ERIE IR SHERL é'aglgé
aﬂwﬁaﬁmaﬂﬁﬁsﬁ%ﬁ;%uﬁwwlw |

When do we consider a person to be myopic or hypermetropic ? List two
causes of hypermetropia. Explain using ray diagrams how the defect
associated with hypermetropic eye can be corrected.

(a) Tordlt ST <A1 Hgmar 4 319 I8 fses forg g Feprein T ford) Seh
g Jofisey A FAfaa 9 gfeiussl & 9i@y & Y 91 8 gHE 9
YaTted Bl 8 ?

b)) = fer U afgy w fEmr Hifve st afgy & s @9 i feafa |
gy ¥ gaifad 9 3R 15 Q & Sfauy & B0 w faver=m e Hifg |
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(a)

(b)

(a)

(b)

(a)

(b)

317211

T gfcige® Ry, Ry 3R Rg UI¥ashH § GAINIA & a1 Jg TS fohelt
sell, onfiet, dicediet 3R FHoil ¥ TIAINIG B | IUgFd U9 3@
Hifau i gfctierent o T9eH o e Tty & fore sereh uea hifs |

= fou U e @1 qed Ifatiy gitehfaa i

20 Q
10 Q VWV
A —AA—] B
AW
20 Q

How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

VWV VY VWA
+| —

| (.)

H“l \*)
30V

OR

Three resistors Ry, Rg and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

Calculate the equivalent resistance of the following network :

20 Q
10 Q VWY

A — MW B
VWV
20 Q

(o]
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21. TrEl &fqS FEae ¥ TFaaq ToRd FhEl Y 9RETE ITeieh % RO 3o
Jraehid & @rsti @ Ued Eifuw | gfavas o fem faRew oft 3w
STIIERT &= [@red hit foun oifhd e # hifve | 3w Y w1ee § g IH W
foreht fomg W, &t grehr & freifea foren S 8, greshr & i ferar o
frE TR 9ftadH BaT B ? 379 TR i gfse o forw sro @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

T
SECTION E

22. Torslt foreges 3 forarmery <1 TTRIIRN ® B @ UHIEH o, Sid, g @1 ™,
Tifsam gEgioA HEHe 3R Afsam gEgiearss & o faerm e 3tk pH
g 3 UeIel % pH U T1d i o fote gt | forell &1 3 37 ugrerf & pH 9
HUI: 3, 12, 4, 8 3N 14 fo@ | 390 & HHA-E1 7 T TE ® 2 BRI §C
3Eh! Hel 7 T | 2

AT

IR fiehl H AT Tothe T TS SHT foeiaq w1 8 31 90 shAwT: Ugiatam,
HIR, AR IR Fop i weliwifly = 6 T ufeaf @ . & | o
30 Tie < uvaTq h1g BT 3194 w1 Yervr T 2 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the

school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

817211 9 P.T.0.
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24.

25.

26.

forel el § 2 mL UHICH o ool 3UH Tk Yookl Hitedd gIEgH
HHe A W = Yo fhu Sid @ 2 39 YRl H B dret STtfshar
e gt fafE |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

feefioost it o1 STl S o TR =N 6 HHIR T R |

AT
T geueEh il 3= v § foret quIR Tmse o1 wleor s o uveEnq feReft
B 3 g T faepren o6 < 8 womge § e wohehifves Sffe @ fgmvea &
fafim =or qufe e & | 39 @ Jaon A fafge R smam WA frsed
ferehTett ST Weha B |
List in proper sequence four steps of obtaining germinating dicot seeds.

OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.

T foamem ) v | Wi 1 90 R o fou feRdt o= & Tt @
STEARfl AU IR Hd gud fordl B g Stdl S It 9| araent
T ST |

List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

id 6T JIATHR Ifgeht (Te) o fohet Teh Heleh A U 45° o I T YA
A aTefl T fohtor 1 9 Rfad FifST | 39 3@ W (i) TUEdd i,
(ii) TATa I 3T (jii) uTfedes fazemam eifera hifm |
YT

HIE B NG H v S7gER foret e & 59 @ T arelt yehrer fomtor w1
T ITRAGT Al 7, T 39 NG I AT BIS ¢al & AR 3 AR off T8
LT | 38 NG I GER Wieeht T HIWT d91 30 W i, Le, £r IR D
3ifera hIfT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR

317211 10
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A student traces the path of a ray of light through a glass prism as shown

in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

27. Tl ufmy o g2 vfligs & yarfga g 3K 38 il w favearw om@ 1
a9 ficfterdict 3R AiceHiet gRT guIT 7T qTd=iehi @ 3TIHN & :
(a) o Uil & IcUqHTS F AT 7§ ?
(b)  Sfaliees w1 Tfaue fohaar 8 2
200 2

100 300 X//ky*H+H+H+Hﬁg~£i\\

mA AV

The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?

(b) What is the resistance of the resistor ?
200 2

100 300 X//£¥kH+H+H+HﬁHHii\\

mA Vv
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FHIIT A= B A b 30 T4 H Glgd g8 11 2 |

TH-9T § qfed 719 hl AR fu MU wiE TR w B SW-YETH 5 GE-I8 W
ford |

AT S H A o6 T IH-IT W 27 T 7 |

AT T 6T I TT@T & T 8 Ugel, T &1 /AT Havd T |

T YHE-IS Wl Yed & fow 15 fide = gy fewr mn 2 1 wH-wm & faa
gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 G B hadl T9A-T3 ol
Ut 3T 30 31afY o A o ITR-YFederT W hig I T8l fore |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

$7 -9 %I gier 9T, 3, &, &, § 3K T F FieT 7 & | 3779 qut 9 &

Yo7l & IR 1@ & |

qut g A g 1

YT &, &, § 3R T & o § AR =7 15397 77 & |

YT 37 & J97 G&IT 1 37K 2 Th-Uh 37% & o7 & | §79 I} T ¥eg 3797

T a3 & ‘

gygﬁag%wy@r3#5ﬁ-ﬁwﬁ%w?/ﬁ%mwwwm
/

YT § & o7 G 6 T 15 T7-d17 3H & F7 & | F99 I T 50 Fg]

v g 8 | e |

YFT § % J97 G&IT 16 & 21 YIT-914 37H] & Jo7 & | 399 I YT 70 5

JH H G &/ '

YFT F & FT GEIT 22 G 27 FINTIHF HIA T R §1-51 3751 & Fo7T & |

$7% G I G & |

General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

T 3
SECTION A
TR T W ST IRV § Telg o ondi <l gt SIS |

Write two advantages associated with water harvesting at the
community level.

Aeediet <1 Yfatry = g =nfgu st 3= 2 o dfSu |

Should the resistance of a voltmeter be low or high ? Give reason.
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T
SECTION B
3. HEA SEATGHERS hHl AdLH-T0g HEHT GiHT HR 366 3 § HEA IR
SRS o & 3TEY <l Tehfd foafE | 2
AHYAT
Sesh o [eTC N1 d BT hIaA o 39l UHHT hl Tl sH13Y e HRor 7R
=T 3R fasnet @@ d e & A fegs 20 € 2

Draw electron dot structure of carbon dioxide and write the nature of
bonding between carbon and oxygen in its molecule.

OR

List two properties of carbon which lead to the huge number of carbon
compounds we see around us, giving reason for each.

4.  FR0 G
(a) TIhuUT o THY FEHE T THES TR i TH: FAES] § qRdfad
fepan ST R |
(b) Ve STeu=a @fsha o1q &; T off 38 a1g 1 WIS UM & S Dl
I ¥ faeqa ST g 2 | 2

Give reason :

(a) Carbonate and sulphide ores are usually converted into oxides
during the process of extraction.

(b)  Aluminium is a highly reactive metal; still it is widely used in
making cooking utensils.

5.  Torell oim <l &l +5 S133CX 2 | 36 o ol Tehld 3N $ishd gt %1 8 2 39
g o forell form 1 forat g W @1 S d@ifer 31 9H @18 1 3o
yfeforesr e &1 2 2
The power of a lens is +5 diopters. What is the nature and focal length of

this lens ? At what distance from this lens should an object be placed so
as to get its inverted image of the same size ?

e
SECTION C

6. THAl § I O % &l TN ohl ! SHTST a0 598 & forell b & &l foafaw | 3

List two types of the transport system in human beings and write the
functions of any one of these.

31/212 3 P.T.0.
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e 3R f=e & st faved hifvre | foreft g7 § fu=m o Toe i 3drg
1 3T HIT |

Distinguish between pollination and fertilisation. Mention the site and
the product of fertilisation in a flower.

arsicesi fohd Ed 7 ? 38 gl il fafau |

AT
(a) Tl fh had & ? UTedl & oI I8 i a9 8 ?
(b) TR o HerRea®d qIedl H 9gref gl dgad & ?

What is transpiration ? List its two functions.

OR
(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

13 O e Rl g0 1 379 B9 H IhST §IT 8, SUU 6 WIedh I3
T I TR HISAT g | 3Hoh I 98 UG JehIST i YU & {Hehe Tl TS
<1 3fie T UaT B |

(a) BT ol A o T IH AT HEAT FMEY 2

(b) 3Gk T Tohd TR hT TUUT T ?

(c) 1 98 39 TharhaM g1 38 gUUl 1 didehe B8 gl Muiid
TR ? 39 T § 370 ITX I s RO gt 3 TR FoRtor 3@
et Fifve |

Srerat

10 cm ST 15 I 12 cm kT gt & fohefl 3T < & J&I 31 & Araaq.
W@ g | oE o gl 18 em @ | I aTal fafee 1 wpf, feafa il
SIEEIEICEIE

A student holding a mirror in his hand, directed the reflecting surface of
the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?
(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length
of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR
A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 cm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.

Siaredt SeAi % TN o i el giemmi gt SRy | e et
HIdl g1 B4 9T TGl i hH T % A IUE GIA1ST |

List three environmental consequences of using fossil fuels. Suggest three
steps to minimise the pollution caused by various energy sources.
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11. Yl o ATgATSH % HU T H AIWH GRT HUIed HATawesh %l e | I8
fr8 TR S 7 2 STgEvEA | A 1 U § fee o fou Soerht wvaifya
AT 1 9 fIRGT | 39 WREAT & ST | oh8 TehR At shi ST Eehdl & 2 3

Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the

atmosphere. How can the use of these chemicals be reduced ?

12. (a) TrEl 37 I TIhd Hd 9T I8 STIIET HT hI A 7 Th oA I
S | e =nfae 7 6 St i et | 2
(b) Y& TEESH FANES T8 Ik fferd o & U1 # i3 9iEgdd gl
HEA | FA 2 3
AT
T T Wfsam gsgiadTss fohl TR SR STaT 8 2 39 Ufshan o1 AW fafay |
39 JfshaT § IUIcUTE o &9 H His 19 X a1 8 | I8 19 I & S 9 Afufsha
ek his Jlfeh Y 941G 7, SEent 3w WRE a1 foieH wHe & ®9 |
foram ST B | X SR Y R ygETNU dum g arefl Stfufshatsn & wEmfe
iRt fafan | 3

(a)  While diluting an acid, why is it recommended that the acid should
be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR

How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

13. FEIF Tl H HR (1) 8¢S o et W o oI Sl T Hd T HIAT HIA
TS, O AT HIs I T X &l 7 | 3
(a) 38 AMNTHAT & JHR 3R A7 X =l Ug=HT |
(b)  AffshaT 1 Hgferd TEMHS THRT iy |
(¢) T8 X g faered &1 pH wiE fafaw |
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14.

15.

16.

17.

18.

On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, O9 and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

foma ANfireRt =1 (1) Teohd, (i) Teeh 3R (iii) VeehTsd *ad 8 ? C4Hyp ¥ &
forae gafea 2 2 39 Aifies & €1 GiEATcHs qUETHS ST |

Which compounds are called (i) alkanes, (ii) alkenes and (iii) alkynes ?
C4H{o belongs to which of these ? Draw two structural isomers of this

compound.

IYIYHT SATFITSE T BId & ? Toh 3GIEWT GINIT | 79 IR hl g o fow
ggfera et gt fafau |

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.
"
SECTION D
(a) T TR STIWTET T& 1 B & ?
(b)  “F Ig TWT B T IS T ST A1 B ¢ W] A d A SR
7 &1 T ?” Rt g IR B G 36 B Hl g HIRAT |

(a) What are dominant and recessive traits ?

(b)  “Is it possible that a trait is inherited but may not be expressed in
the next generation ?” Give a suitable example to justify this
statement.

(a) AN A0 I ITAN HT hl HaATg FT & I 8 2 TAR Ao |
ARSI sl HHT o HROT B T T T I T IHHT Tsh A0 fARgy |
(b) THR IR H dfEerT 36T fohH TohR THT sd & 2 S9Red shifoie |

YA
SAad fohdl ®Ed & ? 38 UREST Bl MeRia & o o frefl y=m i
JANHETHT hHITNTT |
(a)  Why is the use of iodised salt advisable ? Name the disease caused

due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR

What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

(a) Torelt s <hl wgEar § 319 I8 Ty forg TR Femrein T fomeft deht
g Jufishy H GG o9 IfqUeehl o 9RUY o Yo 9T & GHE 9
YaTfed gt g ?
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dr=r fer 7w gfmy w fomm HifST R gfwy & 9< g4 6 foafa |
iUy ¥ JaTed & 3T 15 Q o Iy & &0 R favara 3ma Hifse |

HAAT

@ ufcig® Ry, Ry 3R Ry UT¥ashA T TAINIA & a1 Jg TAlSH fohelt
Stt, enfiet, deeHier i Fofl @ T B | 3uged Uiuy 3Tm@
e ot aftiegent o TS & god gfaty @ e =5 umea hifs |

= fou U e @1 qed faty itehfaa i

20 Q
10 Q VWY

A e AAe | B
VMV
20 Q

How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

VWV VY VWA
+| —

| (.)

|}“| \*)
30V
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19.

20.

21.

(a)  Three resistors R;, Ry and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

(b)  Calculate the equivalent resistance of the following network :

20 Q
10 Q VWV

A —AA—] B
VAV
20 Q

frelt &fter HEae @ dreaq TeRd fopet Y giETEl =Tesh o HRUT 3cqd
e 8 T W 4o Wit | afeiee s fem fafan st sEE
ST &= {@ratt 6t feam siferd & # VT | 38 HiY =es 8 @ IH W
fopelt forg W, W8T grechl@ & Mgiia foran ST 2, grechia & <l disrar o
fhel TehT UREcH BIAT 3 ? 3194 IT i gfse & fotu ot i |

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when

the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

(a)  THTS 1 JehIU Rl had & 2 s shife fop yehifta wehrer st T form
TehR FehIvi S et Shuit o Emget W el st 2 |

(b) AT R AT & THY FF & AW Tdd 8 hl ST T |
Il o TUT IE AT (TFATH) F1 Tefid &1 aran ?

(a) What is scattering of light ? Explain how the colour of the
scattered light depends on the size of the scattering particles.

(b)  Explain the reddish appearance of the Sun at sunrise or sunset.
Why does it not appear red at noon ?

(a) HSA® & 3Mmad 7w ot TN <o el fohedl i Jeqont Y gt AT |
(b) MY 3TMad AREl H,
(i)  Tordlt otred ® 9 § ¢ IH W,
(i)  Torelt T9g (FU) °# IR ¥ =& IH =,
At % enfeaes @aon # fohe T fereor g 2 2
319 I & TIT Hwer T |
tera
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£
IR aw&l A, B, C 3R D o WA § geiaeial ol i <hish § foraior 39 YR 7
o5 37 Il o STRIAH I A SAFHT Shl TEAT HANM: 1, 3, 5 3N 77 | Y
Ed |t § § awal hl g (Y9) @ fafgu | B 3R D qwAIR i @
Solaeii-eh T qem B 3R D o HA & & Aifires 1 1fves g3 fotfw | 5

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.
(b)  How does the metallic character of elements vary on moving from
) left to right in a period,
(i1)  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.
OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.

T

SECTION E
22, 3+ faEme™ Y T | T T YA e o fow ferelt u<ht & T @
SR ATIY IR Hd guF fopdt B g sieft I arelt IR EraenE i
il sH1EY | 2
List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

23. foaorasht <fiSii 1 7@ T o IR =N I HHAR T T | 2
ateran

T YEASI hi I o | Tohell TR TATSE T TV i o qvaq ohe
BE 3 I8 Trnd e for & 2 wose # foreft uehenifves Sfg 0 fg-wvea &
fafirer =71 9T T @ | 39 @ Yeqn i fafgu e smum W udr fsed

feRTeT ST HohdT 2 | 2

List in proper sequence four steps of obtaining germinating dicot seeds.
OR

After examining a prepared slide under the high power of a compound

microscope, a student concludes that the given slide shows the various

stages of binary fission in a unicellular organism. Write two observations

on the basis of which such a conclusion may be drawn.
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24, et ufmy o g2 ufaigs @ yarfgad am ot 3ush il W fawarm oma #
AR fiefiarfier 3t ateeriet g eIy Y Jiesihi & R &

(a) 3 Hiel o 3TcUdHich o1 3§ ?
(b)  AfaOyes 1 Yfq0y ferar 8 2
200 2

100 300 M

mA A%
The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?
(b) What is the resistance of the resistor ?
200 2

100 300 W

mA Vv

25. Whid 6l JIIATHR Ufgeht (TAe) o fohelt Ueh eleh A I 45° o I G YA
T el IH TR 1 99 SRRad HINT | 39 M@ W (1) AU hivT,
(ii) farfa =i 3T (jii) uTfedes fazemum sifera HifsrT |

AT

B B NG H MY AR Fhel sia o 50 F I areft Jehrer fohtor
qy ARG AT B, W] 36 NG H Y DI <aT & N 38 Tifepa o 78
AT | 39 NG I GER Wieeht T HIWT q91 30 W i, Le, £r IR D
3ifera HIfT |
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Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR

A student traces the path of a ray of light through a glass prism as shown
in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

26. Toret W@t § 2 mL UHifeh T TRt 3TH Teh qohl ISIH BIZGISH
HEHe AW W w9 Ry Sd § 2 39 U H B arell ifufshar
e gHfer ffgu |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

27. Toreht freres 3 former 1 RN @ BT ®1 UEHifeH ovd, W@, Hig @ M,
Tifsam gEgioA HEHe 3R Aifsam gEgiearss & o foaerm fou o pH
g 3 Ueiel % pH W T1d i o ot gt | foreft ® 3 39 verei & pH A
HUM: 3, 12, 4, 8 3R 14 @ | T70 F FH- 77 T T ¥ 2 IR W 7
3Hh! T A fafe |

YT

IR SR H TR Hethe ol Tl 1 faereq W 8 S g9 shaeT: egfafem,
HR, JAH W S H welivifa W= Hl T ufal @t T8 8 |
30 e & qveETq 1g B 194 F1 Yequr for@m 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the
school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR
What would a student report nearly after 30 minutes of placing duly

cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

31/212 11
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Candidates must write the Code on the
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AT AT B o6 39 TH-IF H Gfgd I8 11 2 |

TH-9T § qfed 719 hl AR fu MU wiE TR w B SW-YETH 5 GE-I8 W
g |

AT S H o o6 W IH-IF W 27 T 7 |

FUAT T 6T IW TG & HH & Ugel, T 1 HATH 7avd Tord |
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer
on the answer-book during this period.
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317213 1 P.T.0.



i
b
=
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

$7 -9 %I gier 9T, 3, &, &, § 3K T F FieT 7 & | 3779 qut 9 &

Yo7l & IR 1@ & |

qut g A g 1

YT &, &, § 3R T & o § AR =7 15397 77 & |

YT 37 & J97 G&IT 1 37K 2 Th-Uh 37% & o7 & | §79 I} T ¥eg 3797

T a3 & ‘

gygﬁag%wy@r3#5ﬁ-ﬁwﬁ%w?/ﬁ%mwwwm
/

YT § & o7 G 6 T 15 T7-d17 3H & F7 & | F99 I T 50 Fg]

v g 8 | e |

YFT § % J97 G&IT 16 & 21 YIT-914 37H] & Jo7 & | 399 I YT 70 5

JH H G &/ '

YFT F & FT GEIT 22 G 27 FINTIHF HIA T R §1-51 3751 & Fo7T & |

$7% G I G & |

General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to

attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are

to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are

to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These

are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These

are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.

Each question is a two-marks question. These are to be answered in brief.
YT A

SECTION A
foret fogga wgt <t S w1 I (IE) TR B Safeh IWeRT ATUd aFd
3w (IEed) & AT g 2
Why does the cord of an electric oven not glow while its heating element
does ?

Tl e 3 Yfom Sa-AET (SEEE) % ATHe ¥ 39 Bl 8, R o
TH 3 FETEAT Sl FUT [T STERIH & | ;i 2

Although coal and petroleum are produced by the degradation of biomass,
yet we need to conserve these resources. Why ?

317213 2
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SECTION B
3. UGN 3Yedd &1 B ? YO S9add o AR Y AT hl ST Hebd

aTel! g1 qitEeHTS i T SRSy | 2
What is atmospheric refraction ? List two phenomena which can be
explained on the basis of atmospheric refraction.

4. W= gishaar shi fopet g1g 1 W fIRaT | 39 91 1 39 GohEe ISk d
fpesnfiid e 51 fafs o e e e T | 2

Name a metal of medium reactivity and write three main steps in the
extraction of this metal from its sulphide ore.

5. 3 g THRES TurEdt H g S5 S SR W udAie 3 UeHigsH 3T
& o= faved foram S Hehar B R =amen Hifve a8 fave form yer fomen
ST B | 2
AT

T BISGIhTeHl H G hie THTSTI o o= a‘g: CICES] gﬁ 2 a1 I8 Afiek
Tehad AMUTRATE gTd & | |ged 3R ITEq hied Afeh § § HIA-H AhH
stfirs sffreier 21 3 2 Ui o el % o fdeT w0 ¥ R u e
fafy | 2

List two chemical properties on the basis of which ethanol and ethanoic
acid may be differentiated and explain how.

OR

Unsaturated hydrocarbons contain multiple bonds between two carbon
atoms and these compounds show addition reactions. Out of saturated
and unsaturated carbon compounds, which compounds are more
reactive ? Write a test to distinguish ethane from ethene.

q e
SECTION C
6. T BT & S« WIS YA Tehrel 4 TRl shiw & fisw @ gt srvafda gar § 2
7 @ ovad & wwarq fohw ool W fomer sifreha giar B ST feher
W"Wﬁ%’[%ﬂﬁmg\%ﬂ gogn fisH #l vga fisd < amg 3
fegfa @ war S 2 319 3w A gfee i | 3
rera
?ﬁmaﬁmﬁﬁ%a@m%m 0-5 D &HAT o FLHI 1 STTLIHT
| 3

(i) 39 gfse g 1 9 fafae S =g e difsa 7 |
(i) @MY " H THid HR B gl [ HT |
(iii) 39 GG % G RO shi FT TR |
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What happens to a beam of white light when it gets refracted through a
glass prism ? Which colour deviates the most and the least after
refraction through a prism ? What is likely to happen if a second identical
prism is placed in an inverted position with respect to the first prism ?
Justify your answer.

OR
A student needs spectacles of power — 0-5 D for the correction of his
vision.
) Name the defect in vision the student is suffering from.
(i)  Find the nature and focal length of the corrective lens.
(iii)  List two causes of this defect.
HTER =@l hi aRATT fafen | =R afl &R arefl Toeia SAER S@er i
MR T | A7C 38 S@el H i3 Tg¥h IcdTeeh &R W T L A1, dl
fopg Il =X % Sl o IR H 36 UgWeh hi JAleRaH Higdl 4T3 S ? 36
R ! 9T HEd & ?
Define a food chain. Design a terrestrial food chain of four trophic levels.
If a pollutant enters at the producer level, the organisms of which trophic

level will have the maximum concentration of the pollutant in their
bodies ? What is this phenomenon called ?

TR A 1 B 3§ 2 TR U <l GLEAT h AR HIT | IR Al 9 eg
@ ATl ! T AR

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

$S GTgl i O TTESIFANG A oh A1 AMATHAT o v fopelt B 4 =
ﬁﬂ‘TQﬁ%’UT%Q:

(a) fTocat § 13 ufed fears & <an |

(b) S i 3@ A ¥ ffsran A T fopet M o gerge fomm 24 # |
(c) Gifeam &t rffshan rcaferes foemies U8 T |

(d) o ¥ Ugmiem S W stfufshan fsor & q  gfg & 6 |

3 JeTUTt <kl et 3 RuT et HIfT |

During the reaction of some metals with dilute hydrochloric acid, the
following observations were made by a student :

(a)  Silver does not show any change.

(b)  Some bubbles of a gas are seen when lead is reacted with the acid.
(c) The reaction of sodium is found to be highly explosive.

(d) The temperature of the reaction mixture rises when aluminium is
added to the acid.

Explain these observations giving appropriate reason.

317213 4



00}
2
10. P % TEH F HIR Hl Fniia w0 6 rfafy & $ = = fu 7

8 | I TR § B arelt rfufshanatt o temfes wdieter € | 3
i) R (D) HeHIES Hl S

(i) IR (I) GeHIES A B (1) ATFATES T AT

(i) Teregq-ereret uftsentor

Given below are the steps for the extraction of copper from its ore. Write

the chemical equation of the reactions involved in each case.

) Roasting of copper (I) sulphide
(i)  Reduction of copper (I) oxide from copper (I) sulphide
(iii)  Electrolytic refining

11. (a) TFHl 37 =1 qIFHd Hd G99 I8 FAET A hl A1 @ Fo6 3w =l
S | T =g 7 o5 S/ ot 3 | 2
(b) 6 TESINH FANES T I fofeq® o & T H &g giEdd el
HA | =2 3
AT
T A Aifeam g3gidaTss fhe TR ST STt 8 2 39 fshan &1 9 faRegw |
39 Ufsha H IUIcaTg o €9 H i M9 X o 8 | I8 T8 94 & a1 | 1ffsman
hich ohis Jleh Y SHTC! &, SrEent 3w WEa e 4 foieH e & ®9 °
foren ST 2 1 X 3R Y Sl UgETiHY e g aret Stfufshanen & tEmfes
Tfietor fafEu | 3
(a)  While diluting an acid, why is it recommended that the acid should
be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?

OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

12. e Afenl A GG Joft =T BT B 2 Tk IR SIS q9T g9k ol
rfereon <t TR SIS | 3

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.

13. dTIcESH fFY ad 8 ? 38 & 1l [aRay | 3
teraT
(a) TRl foR FEd 8 2 ITgHl o 1T I8 AT STawae @ ?
(b) TR o HEed®d UIGdl H 9aref gl dgad & ? 3
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14.

15.

16.

What is transpiration ? List its two functions.

OR
(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

qfeAshT & &9 H O Qo R fowradt qiwor & g a9 favets
rfiyereqon Y FE SATET |

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

(a) HPpad, TS qUl ITegHad Al S i Ieifieh fogm AT St 7
=i ?

(b) TARFT B Y%A hl Uk hI TSN T@es AW hl TgECl o
HIRT |

(a) Budding, fragmentation and regeneration, all are considered as
asexual mode of reproduction. Why ?

(b)  With the help of neat diagrams, explain the process of regeneration
in Planaria.

" g
SECTION D
ﬁGcmWWBOcmW@%WW%E@&&T%W
ferq 2 | qur | for S gl 45 cm 2 | GUUT g 1 SN Hh a4 AT
gfafers s feufa, whfa o wew Fgifa Hive | 59 s § fafars a3
T o 7w AmfeRa fortor o off Eiifem |
YT

6 cm HIEH 1 HIg (o7 30 cm HIhE gU % fHHT ITA @H % " 50 cm 3h
w fooa 2 | 39 fom o e wfdfers It e & foe w8 @l e 8 foea
W W@ I =1 ? wfafers i Thfa MR Ae §1d FINT | 38 gm0 |
gffers s941 g1 o foTw Amarfera fortor sm@ oft Eifww |

A 6 cm tall object is placed perpendicular to the principal axis of a
concave mirror of focal length 30 cm. The distance of the object from the
mirror is 45 cm. Use mirror formula to determine the position, nature

and size of the image formed. Also draw labelled ray diagram to show the
image formation in this case.

OR

An object 6 cm in size is placed at 50 cm in front of a convex lens of focal
length 30 cm. At what distance from the lens should a screen be placed in
order to obtain a sharp image of the object ? Find the nature and size of
the image. Also draw labelled ray diagram to show the image formation
in this case.

317213 6
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17. el &fS wreais ¥ oFead Toid frdl WY 9RIaTEl Ieieh & SRV 300
Jrah &F W@isll & Yed Eitaw | gfeu-gead s fm fafae sk swem
SFTIERT & W@ A fun ifrd & § Aifvw | 38 Y e § @ I H W
foreht fomg W, &t grehr & faeifea foren S 8, greshr & i frar o
frE TR 9ftadH BaT B ? 379 TR i gfse o forw sro @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

18. (a) Tordlt T <h Hgrar ¥ 319 I8 fswd forg yeer femren for forelt Seht
ﬁéﬂﬁ%ﬁ%@ﬁﬁ?ﬁﬁqﬁﬁuﬁ%qﬁwﬁmmﬁwm
qaTiEd ?

b) = fer U afgy w Er Hifse it afgy & s< g9 h feafa |
iy ¥ garfad 9 3R 15 Q & ity & i | faverR s e |1 5

o_T
|
—~
pg

3T
(a) @4 gfE® Ry, Ry 3N Rg URdshy U aifod g aon 98 TeH foreht
b, onfiet, dicediet 3R FHoft ¥ AN 7 | SUged URuel 3@
Eifew 3T gfcigent o A @ qed Jfald & ol Seeh JTed it |

(b) = feu T Jeaeh w1 o gfaiy aftefera ST 5
20 Q
10 Q W
A —AMN— B
VAN
20 Q

(a) How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

317213 7 P.T.0.
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19. (a)
(b)

Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q
VWW VWWY VWAV

N ey
T
T

OR

Three resistors R;, Rg and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

Calculate the equivalent resistance of the following network :

20 Q
10 Q VWY
A —MA— - .B
WA
20 Q
Heeli & 3Tmad fom T o aret foregl i Seaort <t = s |
3y TTad aweft H,

()  Toreft 3tred ® o ¥ T¢ IH W,
(i)  Torelt Tvg (FU) # W & =& IH
el % Yifcash @&l § forg Yepr o= giar 2 2
T I & fou swror A |

Jrra

IR aw@l A, B, C 3R D o WA § Seiagiai ol iF hish § foaior 39 YR 3
oh 9 Il o STEIAH IS H SoIde I ohl T A 1,3, 5 3 77 | MYgHH
3MEd AU § $9 awal hl g (9) TN faRaw | B 3R D SIS W
gl fa=mE qen B 3R D o AW & o4 Aifiek o1 o11fvess g faflaw |

(a)
(b)

317213

List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

How does the metallic character of elements vary on moving from
) left to right in a period,

(i1))  from top to bottom in a group

of the Modern Periodic Table ?

Give reason for your answer.

OR

8
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20.

21.

22,

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.

iR ST I 8 2 ST Shifore o 3mcifies S <1 gott | S hi 39 faen
i form g 31ftrer Sfemerm fafimard scoe gt @ | 38 foeee &1 forg wahl
qTferd Lt B 2 5

What is sexual reproduction ? Explain how this mode of reproduction

gives rise to more viable variations than asexual reproduction. How does

this affect the evolution ?

(a) AN A0 i ITAN HL hl aAT® H & S 8 2 TAR Ao |
SIS hl HHT o HRU FH JATcd T T A8 TR ITHT Th A0 AT |

(b) BHR IR H dfEeRT 36T fohH TohR THT od & 2 SORedT shifoie | 5
STt

Saadd fh8 wEd 8 ? 39 uftged wi fehfa 0 & fau felt s 6

AfeRegaT hifve | 5

(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

WA
SECTION E
fopeht dftay § g ufitigs & varfzd g iR 3uh ' w fawarm om@ d
o fiefienfier o dieediet grn guIe U UTe=Imhi & 1A ¢ 2
(a) 3 Uil & TcUqHTS R & ?
(b)  fcrass w1 Sy fehaT 8 2
200 2

100 300 W

mA AV
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23.

The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a)  What are the least counts of these meters ?

(b)  What is the resistance of the resistor ?

200 2

100 300 M

mA Vv

a6l TIATHR Ifgeht (TAe) o fohet Ueh efeh W I 45° o I G YA
I el IH TR 1 99 SRRad HINT | 39 M@ W (1) AU hivT,
(ii) farta =IO 3T (iii) uTfedes fazemum sifera Hifsme |
rqan

HE B ARG H T ATAR foreft hia o TH & o areft Fehrer fohor
T MG T B, W 39 SIRG 1 YT SIS odl & 3N 38 THifeha ot T
HA | 39 ARG I GEN Gidept U HIWTC qAT 38 T /i, Le, Lr HRX /D +ff
3Afehd SHIfTT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR
A student traces the path of a ray of light through a glass prism as shown
in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Z/r and ZD.

317213 10
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25.

26.

27.

forel el § 2 mL UHIfCH o ookl 3UH T Yookl HIfedd gIEg
HeHe A W = Yo fhu Sid @ 2 39 YRl H B dret Tfufshar
e gt fafE |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

fepeft foreqep = feremerar bt sermmemen # o i UEifesd o1t i, g F1 @,
qifea FESISM FEe 3R Hifeam gEgidarss & Aefi foerm fu 3fit pH
g’msﬁw?ﬁ%pHmaﬁwﬁ%%ﬁw|%ﬁrmﬁsﬁwﬁ%pHm
A 3, 12, 4, 8 31 14 Tofd | $TH | HH-H1 I F&l 481 2 ? HRU <d §Y
Waﬁm%@nl

AYAT

=R Sfiehll § AT Hehe o are 1 foer w7 3R s A Tyfutem,
HIR, A I e I velvifa w=s i 18 ufgal wh 1 F | amm
SOW%maﬁémaﬁwﬁw%@ﬂ ?

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the
school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

9 foemer™ S TR W Wi R Y0 A o e forEt U=t o fodtes
LRl AU AR Hd gud fordl 39 g Stdl S It 9| araent

T ST |

List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

et St ol STHNA T o TR TN ohl ShAGR Al ST, |

AT
T YEASI hi I o H Tohell TR TATSS T TV A o IATq fohelt
B+ Iz T frepren o6 & 18 Tose © TRt wwenIes Sfa # fg-@ued &
falte =01 goT T & | 39 @ YU ! foifgu oFeh STgR T Ul fshs
frepTett ST Weha 7 |
List in proper sequence four steps of obtaining germinating dicot seeds.

OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.
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